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QUESTION 1
Given:

J/ line 1
List<String>» fruits = new ArraylList<>(List.of (“apple”, “orange”, “banana”));
fruits.replaceall (function) ;

Which statement on line 1 enables this code fragment to compile?
A. Function function = String::toUpperCase;

B. UnaryOperator function = s -> s.toUpperCase();

C. UnaryOperator function = String::toUpperCase;

D. Function function = m -> m.toUpperCase();

Correct Answer: C

import java.io.*;

import java.util.+;

4 import java.util.stream.Stream;

5 import java.util.function.Function;

6 import java.util.function.UnaryOperator;

Ead B =t

8 class Hello {
0 public static void main(String[] args) {

UnaryOperator<String> function = String::toUpperCase;

12 List<String>fruita = new ArrayList<>(List.of("apple", "orange", "banana"});
13 fruits.replacehll (function);

}
1

QUESTION 2
Given:

public class Employee {
private String name;
private String locality;
/* the constructor, getter and setter methods code goes here */

and:
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8. List<Employee> roster = new ArrayList<>();
9. long empCount = roster.stream()
10. /* insert code here */

11. System.out.print (empCount) ;

Which code, when inserted on line 10, prints the number of unique localities from the roster list?
A. .map(Employee::getLocality) .distinct() .count();

B. map(e -> e.getLocality()) .count();

C. .map(e -> e.getLocality())

.collect(Collectors.toSet())

.count();

D. .filter(Employee::getLocality) .distinct() .count();

Correct Answer: D

Reference: https://developer.android.com/reference/android/location/Address

QUESTION 3

A company has an existing sales application using a Java 8 jar file containing packages:
com.company.customer; com.company.customer.orders; com.company.customer.info; com.company.sales;
com.company.sales.leads; com.company.sales.closed; com.company.orders; com.company.orders.pending;

com.company.orders.shipped.

To modularize this jar file into three modules, customer, sales, and orders, which module-info.java would be correct?
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A module com.company.customer {

opens com.company.customer;

}

module com.company.sales{
opens com.company.sales;

}

module com.company.orders {
opens com.company.orders;

}

B. module com.company.customer {

exports com.company.customer;

}

module com.company.sales/
exports com.company.sales;

}

module com.company.orders{
eXports com.company.orders;

}

C. module com.company.customer {
requires Ccom.Ccompany.customer;

}

module com.company.sales|
reguires com.company.sales;

}

module com.company.orders |
reguires Ccom.Ccompany.orders;

}

D. module com.company.customer {
provides com.company.customer;

}
module com.company.sales|
provides com.company.sales;

}
module com.company.orders {
provides com.company.orders;

A. Option A
B. Option B
C. Option C

D. Option D
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Correct Answer: C

Reference: https://developer.ibm.com/tutorials/java-modularity-3/

QUESTION 4

Which three annotation uses are valid? (Choose three.)
A. Function func = (@NonNull x) -> x.toUpperCase();

B. var v = "Hello" + (@Interned) "World"

C. Function func = (var @NonNull x) -> x.toUpperCase();
D. Function func = (@NonNull var x) -> x.toUpperCase();
E. var myString = (@NonNull String) str;

F. var obj = new @Interned MyObiject();

Correct Answer:. ACF

QUESTION 5

Given:

public class Main {
public static wvoid main(String[] args) {
var numbers = TList.of(1,2,3,4,5,6,7,8,9,10);
Optional<Integer> result = numbers.stream() .filter{x —> x % 3 != 0).reduce( (i, 3J)
—> 1 + J);
result.ifPresent {System.out::print); // line 1

Which is true about line 1?

A. If the value is not present, a NoSuchElementException is thrown at run time.
B. It always executes the System.out::print statement.

C. If the value is not present, a NullPointerException is thrown at run time.

D. If the value is not present, nothing is done.

Correct Answer: D
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import java.util.®;

import java.io.*;

import java.lang.Threaod;

mmport java.util. A raylist;

import jova.util.LinkedlList;
import jova.util list;

import java.util.function. Consumer;
8 1import jova.util.stream.Stream;

9 import java.util.stream.IntStrear;
18 import java.util.Optianal:

1
2
3
4
5
A

13 -~ public closs Main {

14 ~ public static void main{String[] args) {

15 var nunbers = List.of[1,2,3,4,5,6,7.8.9,18);

16 Optionol<Integer> result = numbers.stream().filter (x -> 2 % 3 != @) . reduce( (1, j) -> 1 + J);

19 %
Result
CPU Time: 0.18 sec(s), Memory: 33380 kilobyte(s)

JDoodle in Action.... Running the program...
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